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Practice Logical Organization (Sample Answers)

Supporting sentences: 

A.	 These devices must be easy to use as all segments of the population are using them 
now. 

B.	 Video entertainment is much easier to play on Apple than Windows systems. 

C.	 The Windows system requires more user-customization before use. 

D.	 A mobile device must have both work and entertainment capabilities.

E.	 The Apple system is truly plug and play.

F.	 Versatile means user-friendly.  

Correct order:

F.     Versatile means user-friendly. 

A.    These devices must be easy to use as all segments of the population are using them  
        now. 

E.     The Apple system is truly plug and play.

C.     The Windows system requires more user-customization before use. 

D.     A mobile device must have both work and entertainment capabilities. 

B.     Video entertainment is much easier to play on Apple than Windows systems. 

Explanation 

In this sample answer, the paragraph is organized around two points of comparison and each 
one has an example. As we read the paragraph, we can easily follow the step by step logic of 
each point of comparison. First the paragraph defines versatile as user-friendly. Then it offers 
one example of user-friendly – that they are easy to use. And it compares how apple is easier 
than pc to use. Second, it defines user-friendly as easy to customize for a user and compares 
apple and pc for that as well.   

 


